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Scatter - PMA 1nM
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Scatter - PMA 10nM
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Spedmen Mame: Specimen
Sample Name: PMA 10nM
MName Event Count 9% Parent % Total
= D All Everts 100,000 — 100.0009%:
= D Rl 33,729 33.720% 33.729%

[Jrz 4882 13.881%  4.682%

Mean X
1,310,200
2,409,564

154,104
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1,244,783 753,763 480,122
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Scatter - PMA 100nM Scatter - PMA 100nM
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Spedmen Mame: Specimen
Sample Name: PMA 100nM
Mame Event Count 96 Parent %% Total Mean X Mean Y Median X Meadian ¥
= [Janewents 100,000 — 100.000% 1,204,077 1,033,079 746,450 444 405
= [t 26,145  26.145%  26.145% 2,305,872 2,257,405 1,931,880 1,808,210
[[Jr2 3,295 12.603%  3.295% 238,462 — 9,471
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Spedmen Mame: Specimen
sample Name: control
MName Event Count 9% Parent % Total Mean X Mean Y Median X Median ¥
= [Janewents 100,000 — 100.000% 1,132,338 873,541 582,732 499,991
= [t 42,681  42.681%  42.681% 1,491,713 1,546,296 1,415,644 1,436,103

[r2 373 0.874% 0.373% 99,753 — 10,439



Scatter - PMA 1nM
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Sample Name: PMA 1nM

Event Count | % Parent

Name
= [Janewents 100,000
= [t 44,536
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Scatter - PMA 10nM Scatter - PMA 10nM

2 7 1
] R1 R2
73
3 180
~ B3
§ 5 3 o ]
— ] =
= ] 3 100
4] 3
03 ]
' a0 7
13 -
D—: T T T L T T T T 0 EI I3 I"I4I ...,5-
0 1 2 3 4 ] =} T 2 10 10 10 10
FSC-a {105} BL1-A
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Spedmen Mame: Specimen
Sample Name: PMA 10nM
MName Event Count 9% Parent % Total Mean X Mean Y Median X Median ¥
= [Janewents 100,000 — 100.000% 1,028,079 786,301 BO3,145 437,739
= [t 25430  25.430%  25.430% 1,851,876 1,859,896 1,734,171 1,669,964

[Jrz 1,519 5.973% 1.519% 134,810 — 11,274



Scatter - PMA S50nM Scatter - PMA S50nM
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Experiment Mame: 08-26-2016 05 00 PM({11)
Spedmen Mame: Specimen
Sample Name: PMA 50nM
MName Event Count 9% Parent % Total Mean X Mean Y Median X Median ¥
= [Janewents 100,000 — 100.000% 1,024,681 883,788 702,746 490,585
= [t 25,229  25.229%  25229% 1,575,529 1,846,542 1,665,615 1,435,191

[Jr2 4806 19.125%  4.826% 142,852 — 8,595



Scatter - PMA 100nM Scatter - PMA 100nM
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Spedmen Mame: Specimen
Sample Name: PMA 100nM
MName Event Count 9% Parent % Total Mean X Mean Y Median X Median ¥
= [Janewents 100,000 — 100.000% 1,012,596 837,347 717,467 466,876
= [t 23,381  23.381%  23.3B1% 1,575,317 1,828,445 1,651,374 1,407,362

[Jrz 3989 17.061% 3.589% 144,252 — 8,393



